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values={]

t=l:1:500

mean=1000-( (exp(-0.05%c)) *800)
y:lﬂﬂﬂ+{5ﬂf1.ﬂﬂ25]':1n{=}+{1.5!1.ﬂb25]'ﬁﬂ:ltl-ilelp[-n.ﬂs*t]}‘lﬁz

if rem(c,2) ==(
values=[values,mean)
elae
values=[values, y]
a&nd
excelvaluss=transpose (values)
mins=tcranspose (t)
plot (c,valuss)
grid on
grid minor
xlabel (‘cime(mins)‘)
viabel ("volume (licres)*)
xlswrite('odevbesdata.xlax',{"t(min) "}, 'verilezr',"Al")
xlswrice ('ocdevbesdata.xlsx',mins, *veriler',"R1")
Xlaswzite('odevbesdata.xlax', (*'V(Litze) '), "verilezr*,'8l")
xlswrite ('odevbesdata.xlsx',excelvalues, "vezriler','B2")



